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Solicitor completes 
application form and
client signs it off
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*Representative example: amount of credit £100,000 for 12 months. Interest rate 22.8% 

per annum. Administration fee of £1,250 (1.25% of the facility) added to the loan. Interest 

£23,085. Total repayable £124,335. Representative 24.30% APR.

Worked example: Interest only accrues on drawn down funds and the costs of legal proceedings 

tend to be spread over a 12-month period. Therefore, assuming a £100,000 facility is drawn in 

three equal instalments in month 3, 6 and 9 with the loan being repaid in a single payment after 

12 months – then the total amount repayable would be £114,835 (being capital of £100,000, 

administration fee of £1,250 and interest of £13,585). In this example, the total cost of the 

credit is £14,835 and the effective rate is 14.8%.
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